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PART 1 (35 points)

Answer the questions for either (A) Rules of the Game OR (B) The Enemy.
the previous owner didn't want it
she wants her sons to play outside
The bakery displayed her trophies.

chess is not a Chinese game
They went to her competitions.

cannot be seen." What does Waverly learn from this? Give information

At first Waverly's mother wants to throw away the chess set because (-).
How did Waverly's Chinese neighbors show that they were proud of her?
At the beginning of the story, Waverly's mother says, "Strongest wind

RULES OF THE GAME / Amy Tan
(iv) Waverly wants to learn how to play
(iii) The flower shop sent her flowers.
(iv) They visited her at home.
from the story to support your answer.
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Why do you think the servants and Hana react differently to the prisoner?

Give information from the story about each of them to support your
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For this question, choose ONE of the thinking skills from the Appendix (noo3)

on page 15 OR any thinking skill studied in class. Use this thinking

the Americans he has known in the past. What are Sadao's feelings at
Thinking sKill I ChOSe: ......coouieiiiiiiiiiiieeeeee e

skill when answering the question. (10 points for the content of the
At the end of the story, Sadao looks out to the sea and remembers all
this point in the story? Explain. Give information from the story to

answer, 5 points for the correct use of the thinking skill)

support your answer.
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PART II (45 points)
Answer the questions for either (C) All My Sons OR (D) The Wave.
Chris wants to marry Ann
George is coming to see them

Give information from the play to support your answer.

At the end of Act I, Kate says, "Be smart now, Joe... Be smart." She

(iii) the neighbors are asking questions

says this because (—).
(iv) Steve is getting out of jail
Kate say this?

(1)
(ii)

10. In ActII, Kate tells Chris that Ann "doesn't belong here." Why does
11. Do you think Kate should also be held responsible for Joe's crime? Discuss.

ALL MY SONS / Arthur Miller

Answer questions 9-13.

NODI+416,016117 01,2 TYNWI Y'YWN VP . II9D TN
9.
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12. Why is George an important character in the play? Give information

from the play to support your answer.

(10 points)

13. For this question, choose ONE of the thinking skills from the Appendix (nov))

skill when answering the question. (10 points for the content of the

on page 15 OR any thinking skill studied in class. Use this thinking
answer, 5 points for the correct use of the thinking skill)

ht — every man does have a star. The star of one's honesty.

And you spend your life groping for it, but once it's out it never

Jim says to Kate at the beginning of Act III, "In a peculiar way, Frank
lights again." Explain what he means by this in relation to Chris. Give

information from the play to support your answer.

is rig

.

Thinking sKill I chOSe: ......coceiviiiiiiiiiiiiiiiicec e

(15 points)
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let's forget it at the same time." What do you think he means by this?

Give information from the novel to support your answer.

17. At the end of the novel David says, "Let's try... not to forget it... but
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(15 points)
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When Ben sees how seriously the students are relating to The Wave, he
thinks to himself, "It was as if The Wave had taken on a life of its

The Wave changed Ben? Give information from the novel to support
Thinking sKill T ChOSE: ...cooouiiiiiiiiiieiiieeeeee e

on page 15 OR any thinking skill studied in class. Use this thinking
skill when answering the question. (10 points for the content of the
own and now he and his students were literally riding it." How has

answer, 5 points for the correct use of the thinking skill)

18. For this question, choose ONE of the thinking skills from the Appendix (noo))
your answer.
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APPENDIX TO PARTS I and II
Thinking Skills

e Comparing and contrasting

o Distinguishing different perspectives
o Explaining cause and effect

e Uncovering motives

e Inferring

o Explaining patterns
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